L Inherited impairments.
Numerical

Down’s Syndrome is caused by a mistake in cell division where there is an extra 21st chromosome. The foetus usually survives and the child has characteristic features, learning difficulty and impairments of the heart. Boys are infertile.
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Karyotype: 47,




Turner Syndrome these are girls with only one X chromosome. They have normal mental functioning and have short stature and infertility.
Klinfelter’s Syndrome where a boy has an extra X chromosome his secondary sexual characteristics will not develop at puberty.

Genetic

Albinism is caused by a recessive gene and so both parents must be carriers. The gene causes a fault in the enzyme essential for melanin production. It has an incidence of 1 in 20,000. Effected individuals have no pigment in hair, skin and eyes and visual impairment is common.
Cystic Fibrosis  It is carried as a recessive gene on chromosome 7 and has to be received from both parents. It leads to excess mucus provision in lungs and pancreas. There is a high risk of lung infections and the mucus must be expelled by massage daily. There is a problem digesting food and a difficulty putting on weight.

Colour Blindness. Not being able to distinguish colour red-green or blue-yellow because impairment in cones of the retina. This is an X linked recessive. Red Green effects males as it is on the X chromosome. Whereas blue-yellow effects both genders but not linked to X chromosome.

Huntington’s chorea is caused by an abnormal dominant gene but does not appear until age 30. Symptoms develop of involuntary movements, personality change and dementia over 15-20 years.
A really good source with lots of diagrams  is ‘The Human Body: An illustrated guide to its structure, function and disorders.’ By Steve Parker, Dorling Kindersley , London 2007.
